Section 2.4 - Derivatives of Other Trig Functions

Given that f(x)=Tan(x)

= FIx_] ¢= Tan[x]
frix]
fp[x_] :=Sec[x]"2

out-]= Sec[X] 2

y = tan(x) y = sec?(x)
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Given that f(x)=Cot(x)

nsooy= F[X_] ¢= Cot[x]
f'[x]
fp[x_] := -Csc[x]?

ousotl= —Csc[Xx] 2

y = cot(x) y = —csc?(x)
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Given that f(x)=Sec(x)

ngo7i= F[X_] ¢= Sec[x]
frix]
fp[x_] := Sec[x] Tan[x]

outgosl= Sec[x] Tan[x]

y = sec(x) y = sec(x) tan(x)

out[310]=
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Given that f(x)=Csc(x)

na2oj= F[X_] ¢= Csc[x]

f'[x]
fp[x_] := -Cot[x] Csc[x]
ouizetl= —Cot[x] Csc[x]
y = csc(x) y = —cot(x) csc(x)
4t 4t
2r 2F
Out[323]=
3 2 4| 1 2 3 1|
2r -2r
- 4+

[ r -/
_Y/[%)> ~ CSCC)C> = ;\Lx,) - (.g)/\()o)>

— )
L) = 1 (emey o (5200

v

— Co( G<)

g/(/‘?é)bv

— l

- L Lol

-0
AL B NN

[

— C 5LC%> /9“‘/(*)



